



St. Louis County, Minnesota

Date of Report: 5/7/2025 1:29:07 PM

**General Details** 

 Parcel ID:
 141-0020-00231

 Document:
 Abstract - 01398980

**Document Date:** 11/17/2020

**Legal Description Details** 

Plat Name: HIBBING

Section Township Range Lot Block

2 57 20 -

**Description:** S1/2 of SE1/4 of NE1/4

**Taxpayer Details** 

Taxpayer Name OLSON STACEY N

and Address: 4611 HWY 5

HIBBING MN 55746

**Owner Details** 

Owner Name OLSON STACEY N

Payable 2025 Tax Summary

2025 - Net Tax \$9,739.40

2025 - Special Assessments \$150.60

2025 - Total Tax & Special Assessments \$9,890.00

#### Current Tax Due (as of 5/6/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$4,945.00	2025 - 2nd Half Tax	\$4,945.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$4,945.00	2025 - 2nd Half Tax Paid	\$4,945.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Penalty	\$0.00	2025 - 2nd Half Penalty	\$0.00	Delinquent Tax	\$25,160.42	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$25,160.42	

#### Delinquent Taxes (as of 5/6/2025)

Tax Year		Net Tax	Penalty	Cst/Fees	Interest	Total Due
2024		\$8,467.25	\$719.72	\$0.00	\$306.20	\$9,493.17
2023		\$2,337.55	\$198.69	\$0.00	\$287.43	\$2,823.67
2022		\$6,834.00	\$580.89	\$0.00	\$1,581.82	\$8,996.71
2021		\$2,852.06	\$57.04	\$20.00	\$917.77	\$3,846.87
	Total:	\$20,490.86	\$1,556.34	\$20.00	\$3,093.22	\$25,160.42

**Parcel Details** 

Property Address: 4611 HWY 5, HIBBING MN

School District: 701
Tax Increment District: -

Property/Homesteader: OLSON, STACEY N





St. Louis County, Minnesota

Date of Report: 5/7/2025 1:29:07 PM

Assessment Details (2025 Payable 2026)									
Class Code (Legend)									
201	1 - Owner Homestead (100.00% total)	\$37,000	\$491,100	\$528,100	\$0	\$0	-		
111	0 - Non Homestead	\$10,900	\$0	\$10,900	\$0	\$0	-		
	Total:	\$47,900	\$491,100	\$539,000	\$0	\$0	5460		

**Land Details** 

Deeded Acres: 20.00
Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

Improvement 1 Details (MARTIN HM)								
Improvement Type	Year Built	Main Flo	lain Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish	Style Code & Desc.		
HOUSE	1999	2,28	38	2,288 AVG Quality / 364 Ft <sup>2</sup>		SL - SPLT LEVEL		
Segment	Story	Width	Length	Area	Foundation	on		
BAS	1	26	28	728	BASEMEN	NT		
BAS	1	26	28	728	FOUNDATI	ON		
BAS	1	26	32	832	BASEMEN	NT		
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC		
3.5 BATHS	5 BEDROOM	MS	7 ROOM	<i>I</i> IS	- C	&AIR_EXCH, GAS		
Improvement 2 Details (26X32 AG)								
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
GARAGE	2010	833	2	832	-	ATTACHED		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	26	32	832	FOUNDATI	ON		
		Improven	nent 3 De	tails (12X40 PI	3)			
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
POLE BUILDING	2007	480	0	480	-	-		
Segment	Story	Width	Length	th Area Foundation		on		
BAS	1	12	40	480	FLOATING S	SLAB		
Improvement 4 Details (60X80X16)								
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
POLE BUILDING	2010	3,60	00	3,600	-	-		
Segment	Story	Width	Length	Area	Foundation	on		
BAS	1	60	60	3,600	PIERS AND FO	OTINGS		





St. Louis County, Minnesota

Date of Report: 5/7/2025 1:29:07 PM

			nent 5 Details (	· · · · · · · · · · · · · · · · · · ·				
Improvement Type Year Built			Main Floor Ft <sup>2</sup> Gross Are		Basement Finish	Style (	Code & Desc.	
POLE BUILDING 0			1,620 1,62		<u>-</u> -		-	
Segme		•	Width Length Ar		Found			
BAS			54	1,620	FLOATIN			
LT	0	9	54	486	POST ON (	3ROUND		
		-	ent 6 Details (R	OUNDPATIO)				
Improvement Typ			Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>			Basement Finish Style Code & De		
	0		314 314			- B - BRICK		
Segme		•	Length Area		Found	ation		
BAS	0	0	0	314	-			
		Sales Reported	to the St. Loui	s County Aud	litor			
Sa	ale Date		Purchase Price		CF	RV Number		
1	1/2019	\$430,000 (	This is part of a mul	ti parcel sale.)	235051			
0	6/2005	\$278,000 (	This is part of a mul	ti parcel sale.)	167527			
		A	ssessment His	tory				
	Class				Def	Def		
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity	
	201	\$43,000	\$547,200	\$590,200	\$0	\$0	-	
2024 Payable 2025	111	\$13,600	\$0	\$13,600	\$0	\$0	-	
2024 Fayable 2025	Tota	\$56,600	\$547,200	\$603,800	\$0	\$0	6,264.00	
	201	\$43,000	\$506,900	\$549,900	\$0	\$0	-	
2023 Payable 2024	111	\$13,600	\$0	\$13,600	\$0	\$0	-	
,	Tota	\$56,600	\$506,900	\$563,500	\$0	\$0	5,760.00	
	201	\$36,000	\$362,200	\$398,200	\$0	\$0	-	
2022 Payable 2023	111	\$10,500	\$0 \$10,500		\$0	\$0	-	
	Tota	\$46,500	\$362,200	\$408,700	\$0	\$0	4,073.00	
	201	\$33,000	\$345,900	\$378,900	\$0	\$0	-	
2021 Payable 2022	111	\$9,100	\$0	\$9,100	\$0	\$0	-	
.,	Tota	I \$42,100	\$345,900	\$345,900 \$388,000		\$0	3,849.00	
		-	Γax Detail Histo	ory				
			Total Tax &					
Tax Year	Tow	Special	Special	Toyoble I am	Taxable Bui		al Taxable MV	
2024	<b>Tax</b> \$8,566.00	Assessments \$0.00	Assessments \$8,566.00	Taxable Land \$56,600	\$506,90		\$563,500	
2024	\$6,996.00	\$0.00	\$6,996.00	\$46,373	\$360,90		\$407,298	
2023	\$6,834.00	\$0.00	\$6,834.00		\$343,03		\$384,861	
2022	<b></b> გნ,ნა4.00	Φυ.00	<b>ა</b> ნ,834.00	\$41,827	\$343,03	04	φ304,00T	





St. Louis County, Minnesota

Date of Report: 5/7/2025 1:29:07 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.